# CITY OF LEROY COUNTY OF MC LEAN STATE OF ILLINOIS

ORDINANCE NO. 483

## ORDER APPROVING ACCEPTANCE OF BID OF AL WIEGAND, INC., AND EXECUTION OF CONTRACT BY APPROPRIATE CITY OFFICIALS

ADOPTED BY THE	CITY COUNCIL OF THE C	ITY OF LEROY THIS 15th DAY OF
February	, 1993.	
PRESENTED:	February 15	, 1993
PASSED:	February 15	, 1993
APPROVED:	February 15	, 1993
RECORDED:	February 15	, 1993
PUBLISHED:	February 15	, 1993
In Pamphl	et Form	
Voting "	Aye"5	
Voting "	Nay"	

The undersigned being the duly qualified and acting City Clerk of the City of LeRoy does hereby certify that this document constitutes the publication in pamphlet form, in connection with and pursuant to Section 1-2-4 of the Illinois Municipal Code, of the above-captioned ordinance and that such ordinance was presented, passed, approved, recorded and published as above stated.

(SEAL)

City Clerk of the City of LeRoy, McLean County, Illinois

Dated: February 15, 1993.

ORDINANCE NO. 483

### ORDER APPROVING ACCEPTANCE OF BID OF AL WIEGAND, INC., AND EXECUTION OF CONTRACT BY APPROPRIATE CITY OFFICIALS

WHEREAS, the Mayor and City Council of the City of LeRoy, McLean County, Illinois, an Illinois municipal corporation, find it is necessary for the City to enter into a public works project as described in Exhibit "A" attached hereto, and

WHEREAS, in so doing it will be necessary to enter into a contract as set forth in Exhibit "A," attached hereto, which contract shall require a significant expenditure of funds by the City,

NOW, THEREFORE, BE IT ORDAINED, by the City Council of the City of LeRoy, McLean County, Illinois, in lawful meeting assembled, as follows:

Section 1. The bid set forth in Exhibit "A," attached herto and incorporated herein by reference, is accepted effective January 4, 1993, and the contract, set forth in Exhibit "A," attached hereto and incorporated herein by reference, is hereby approved.

Section 2. The Mayor and City Clerk of the City of LeRoy are hereby directed to execute the contract, attached hereto as Exhibit "A," in the original and as many copies as may reasonably be required, retaining a signed copy of the contract for the City, after it has been executed by all parties, said officers being deemed, by executing the aforesaid contract, to have evidenced the ratification of the bid acceptance effective January 4, 1993, in accordance with the vote of the City Council on that date approving the acceptance of said bid.

<u>Section 3</u>. This ordinance shall be in full force and effect from and after its passage, approval, and publication in pamphlet from as required by law.

	y of LeRoy, Illinois, upon the motion by
	ed by Robert D. Johnson by roll
call vote, on the 15th day of February	,1993, as follows:
Aldermen elected 6	
Aldermen present 5	
VOTING AYE:	
William Swindle, Gary Builta, Rober	t D. Johnson, David Spratt, Jerry Davi
(names)	
VOTING NAY:	
None	
(names)	
ABSENT, ABSTAIN, OTHER:	
Randy Zimmerman absent	
(names)	
and deposited and filed in the office of th	se city clerk in said municipality on the
15thday of February , 1993.	to city there in said municipantly on the
TILIMAY OF FEBRUARY 1993.	4
	-
	Monta Dagley
	Juanita Dagley, City Clerk of the City of LeRoy, McLean County, Illinois
APPROVED by the Mayor of the Cit	cy of LeRoy, Illinois, this 15th day of
<u>February</u> , 1993.	
	000
	Julius -
	Jerry C. Davis, Mayor of the
	City of LeRoy, McLean County, Illinois
	McDean county, minors
ATTEST: (SEAL)	
1 + 1	

Juanita Dagley, City Clerk, City of LeRoy, McLean County, Illinois.

#### PROPOSAL

Proposal of _Al Wiegand, Inc.	(hereinafter
called "BIDDER"), organized and existing under the laws of the State of	[llinois
doing business as Corporation	*.
To theCITY OF LEROY	
(hereinafter called "OWNER	C'')
In compliance with your Advertisement for Bids, BIDDER hereby pro	poses to per-
form all WORK for the construction of GOLDEN EAGLE SANITARY SEWER - PE	ASE I
in strict accordance with the CONTRACT DOCUMENTS, within the ti	me set forth
therein, and at the prices stated below.	
By submission of this BID, each BIDDER certifies, and in the case o	f a joint BID
each party thereto certifies as to his own organization, that this BID has be	en arrived at
independently, without consultation, communication, or agreement as to	any matter
relating to this BID with any other BIDDER or with any competitor.	
BIDDER hereby agrees to commence WORK under this contract on or	before a date
to be specified in the NOTICE TO PROCEED and to fully complete the PRO	DJECT within
consecutive calendar days thereafter. BID	DER further
igrees to pay as liquidated damages, the sum of \$\frac{100.00}{} for each con	secutive cal-
endar day thereafter as provided in Section 15 of the General Conditions.	
BIDDER acknowledges receipt of the following ADDENDUM:	
Addendum #1	
Addendum #2	
Addendum #3	

<sup>\*</sup>Insert "a corporation", "a partnership", or "an individual" as applicable.

BIDDER agrees to perform all the Work described in the Contract Documents for the following unit prices or lump sum:

#### BID SCHEDULE

NO.	ITEM	UNIT	UNIT PRICE	AMOUNT	TOTAL PRICE
1131					
1.	10" Sanitary Sewer-V.C.P.	L.F.	: 15.00	513	7695.00
2.	8" Sanitary Sewer-V.C.P.	L.F.	13.00	3163	41,119.00
3.	6" Sanitary Sewer-V.C.P.	L.F.	12.00	803	9636.00
4.	6" Force Main- PVC SDR 21	L.F.	7.00	2682	18,774.00
5.	10"x6" Tee	Each	55.00	3	165.00
6.	8"x6" Tee	Each	50.00	31	1550.00
7.	Manhole- Ty-A, 4' Dia.	Each	1200.00	14	16,800.00
8.	Trench Backfill	L.F.	10.00	970	9700.00
9.	Pavement Repair	L.S.	6000.00	1	6000.00
10.	Drive Repair	L.S.	1000.00	1	1000.00
11.	Lift Station Complete	L.S.	31,000.00	1	31,000.00
12.	Surface Restoration	L.S.	3000.00	1	3000.00
13.	Erosion Control	L.S.	1000.00	1	1000.00

NO.	ITEM	UNIT	UNIT PRICE	AMOUNT	TOTAL PRICE
14.	Emergency Portable	L.S.	4200.00	1	4200.00
15.	Aggregate Base Cse., TY-B	Ton	20.00	64	1280.00
16.	Corrugated Metal Pipe-24" Dia.	L.F.	45.00	22	. 990.00
TOTAI	BID	•••••	•••••		\$153,909.00

Respectfully submitted:

Al Wiegand, Inc.

Signature\_

Address 3305 N. Main St. E. Peoria, IL 61611

Title

tie /.*p. 6/11* 

License Number (If applicable)

Date 12/14/92

(Seal - if BID is by a corporation)

Attest

### AGREEMENT

THIS AGREEMENT, made this
and between
andAl Wiegand, Inc doing business as (an-individual,) or (a
partnership;) or (a corporation) hereinafter called "CONTRACTOR".
WITNESSETH: That for and in consideration of the payments and agreements herein-
after mentioned:
1. The CONTRACTOR will commence and complete the construction of
Golden Eagle Sanitary Sewer - Phase I
2. The CONTRACTOR will furnish all of the material, supplies, tools, equipment,
labor and other services necessary for the construction and completion of the PROJECT
described herein.
3. The CONTRACTOR will commence the work required by the CONTRACT DOC-
UMEN'TS within calendar days after the date of the NOTICE TO PRO-
CEED and will complete the same within to calendar days unless the period
for completion is extended otherwise by the CONTRACT DOCUMENTS.
4. The CONTRACTOR agrees to perform all of the WORK described in the CON
TRACT DOCUMENTS and comply with the terms therein for the sum of \$153,909.00
or as shown in the BID schedule.
5. The term "CONTRACT DOCUMENTS" means and includes the following:
(A) Advertisement For BIDS
(B) Information For BIDDERS
(C) BID
(D) BID BOND
(E) Agreement

(F)	General Conditions			
(G)	SUPPLEMENTAL GENERAL CONDITIONS			
(H)	Payment BOND			
(1)	Performance BOND			
(J)	NOTICE OF AWARD			
(K)	NOTICE TO PROCEED			
(L)	CHANGE ORDER			
(M)	DRAWINGS prepared by Lewis, Yockey & Brown, INc.  numbered through 8, and datedOctober 21  19 _92			
(N)	SPECIFICATIONS prepared or issued by Lewis, Yockey & Brown, Inc.			
(0)	dated October 21, 19 92  ADDENDA:			
	No, dated <u>November 16</u> , 19 92			
	No, dated, 19			
	No3, dated <u>December 11</u> , 19 92			
	No, dated, 19			
	No, dated, 19			
	No, dated, 19			
6. The	OWNER will pay to the CONTRACTOR in the manner and at such times as			
set forth i	n the General Conditions such amounts as required by the CONTRACT			
DOCUMEN	NTS.			
7. This	Agreement shall be binding upon all parties hereto and their respective			
heirs, exect	utors, administrators, successors, and assigns.			
IN WITNE	SS WHEREOF, the parties hereto have executed, or caused to be executed			
	uly authorized officials, this Agreement in (			
which shall	be deemed an original on the date first above written.			

Exhibit A

	OWNER:
	City of LeRoy  BY  Jerry Davis  (Please Type)
(SEAL)	TitleMayor
ATTEST:  Leanita Dagley  Name Juanita Dagley  (Please Type)	
TitleCiry Clerk	CONTRACTOR:
	Al Wiegand, Inc.  BY  William Spencer  (Please Type)
	Address 3305 N. Main St.  E. Peoria, IL 61611
SEAL) ATTEST: Michele Wiegand	
Name Michele Wiegand . (Please Type)	•